
Algebra Informal test 1: 
 

Unit 6 – Unit 9: 
Question 1: 

Consider the following expression: 

4𝑥 + 2𝑥2 − 14 −𝑥3 

 

1.1 Rewrite this expression in ascending powers of 𝑥.      (1) 

1.2 What the degree of this expression?       (1) 

1.3 What is the coefficient of 𝑥3?        (1) 

1.4 What is the value of the constant term?        (1) 

1.5 Find the value of the expression if 𝑥 = −1       (2) 

1.2 Simplify the following expression: 

 
12𝑎−6𝑏

3
           (1) 

Total: 7 

Question 2: 

Simplify the following equations: 

2.1)  𝑥 − 3 = 6                                       (2)                        2.2) 5 + 𝑥 = 10    (2) 

2.3) 4 − 𝑥 = 12                                     (2)                         2.4) 2𝑥 − 3 = 7    (2) 

2.5) 6𝑥 = 36                                          (1)                          2.6) 
8

𝑥
= 2     (1) 

2.7) 
20

𝑥
+ 5 = 15                                    (3)                          2.8) 3(3𝑥 + 4) = 6    (3) 

2.9) −4𝑥 + 3 = −9 − 7𝑥                    (3)                          2.10) 3𝑥 + 5(−9 − 5𝑥) = −3𝑥 + 2𝑥 (4) 

 

           Total:23 

Grand total: 30 Marks 

 

 

  


